


Welded Connection Design – AISC Spec J
General Elastic Method for Any Weld Group w/ Same Size Welds

General Elastic Method (as adopted from Alex Tomanovich)

1) Identify Weld Group Main Parameters

• ��� = total length of weld group

• Centroid of Weld Group
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continue for each weld
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2b) Loads Transformed for Effects @ CG of Weld Group

Notation $�%&�
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indicates moment about x-axis caused by )�.
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2a) Moment Summations about CG (for each point loaded)

• USE RIGHT HAND RULE CENTERED ON THE 56789:!!!!
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Welded Connection Design – AISC Spec J
Elastic Method General Algorithm 

General Elastic Method (as adopted from Alex Tomanovich)

4) Weld Requirements and Base Metal Check

• Fillet weld size required (in 16ths of an inch) =
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for LRFD.

• If using ASD, substitute 0.928\
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• Base Metal Shear Allowable

• LRFD: ∅b� = (1.00)(0.6)(e�f=gR) hij. $.ki, lℎ-nop.jj  ______
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• Refer to AISC Spec. J4

• b� = 0.6e�*S�           r/ ∅ = 1.00 tu  Ω = 1.5  (lℎ-j -j rℎ.u. 0.4e� ytu *z{ nt|.j yut|)

3) Weld Forces @ Individual Points (Weld Ends): The forces are dependent on Cx & Cy, as measured from }~�R<�
BEAWARE OFTHE MOMENT ORIENTATION AND RIGHT HAND RULE!!!
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(e.g. positive moment about Z will produce force in negative X if }��f is positive)
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